
tnemeergA noitingoceR lautuM fo weiveR  

eriannoitseuQ  

evif sti rof eud si )ARM( tnemeergA noitingoceR lautuM EAA ehT -  ni weiver ylraey
 .6102   ni gniteem eettimmoC msilanoisseforP dna smodeerF ,sdradnatS eht tA

 a taht deerga saw ti ,rebmetpeS ni anolecraB  rebmem ot tnes eb eriannoitseuq
.ARM tnerruc eht fo weiver a fo trap sa snoitaicossa   eht fo esoprup ehT

 ni syaw dna ,ARM eht fo noitarepo eht retteb dnatsrednu ot si eriannoitseuq
 eht dellac osla( eton ecnadiug gniynapmocca eht dna ,ti hcihw “ ettel kcebueH r”  ,)

.noitaretla yb devorpmi eb dluohs  
 

:setats ARM eht fo noitces tnaveler ehT  
 no troper a eraperp llahs noitaicossa hcae 1102 yraunaJ 1 morf sraey evif retfA“
 snoitaretla rof snoitseggus yna gnidulcni ,tnemeergA siht fo noitatnemelpmi eht

r hcaE .otereht  eht hguorht snoitaicossa rehto ot elbaliava edam eb llahs trope
 nward eb llahs troper detadilosnoc a dna ,)EAA( eporuE fo noitaicossA lairautcA

”.snoitaicossa eht ot stnemdnema etairporppa esoporp yam ohw ,EAA yb pu  
 

uoiverp eht ta sa ,taht deerga CPFS ehT  a ,reilrae sraey 6 emos weiver s
 detelpmoc ecnO .troper tnaveler eht sa tca dluohs esnopser eriannoitseuq

 dna meht esirammus lliw I ,snoitaicossa morf deviecer neeb evah sesnopser
 eb dluohs ARM eht taht deerga osla saw tI .eettimmoC eht ot troper a timbus

.noitaicossa hcae morf troper lamrof a rof tnemeriuqer eht dnema ot desiver  
 

 ot liame yb ti dnes dna ,6102 rebmeceD 51 yb eriannoitseuq eht etelpmoc esaelP
 / ?koK dA ?grubneliuhcS euqinoM  

 
 dna smodeerF ,sdradnatS eht fo nosrepriahC ,nitraM divaD

noisseforP eettimmoC msila  
 

:1 noitseuQ  

:no sdrocer lamrof peek noitaicossa ruoy seoD  

)a   ]oN/seY[ ?krow srebmem seirtnuoc hcihw nI  
)b   ]oN/seY[ ?ni pihsrebmem evah srebmem snoitaicossa rehto hcihw nI  

:2 noitseuQ  

 deilper uoy fI :)b ro/dna )a 1 noitseuQ ot SEY  

)a   lluf ynam woh fo etamitse tseb ruoy ro( srebmem lluf ynam woH
 ni seirtnuoc naeporuE rehto ni dekrow evah noitaicossa ruoy fo )srebmem

 ?sraey 5 tsal eht  
)b   ynam woH  srebmem  )etamitse tseb ruoy ro(  lacol a denioj evah

 noitaicossa  yrtnuoc naeporuE rehtona ni nu  ?ARM eht red  

:3 noitseuQ  

)a   emoceb evah snoitaicossa rebmem EAA rehto morf seirautca ynam woH
 ?ARM eht rednu noitaicossa lairautca lanoitan ruoy fo srebmem lluf  

)b   fI ?srebmem lluf nwo ruoy fo taht morf tnereffid yaw yna ni sutats rieht sI
 ?woh os  

)c   yeht erA ?noitaicossa emoh rieht fo pihsrebmem niater ot deriuqer  



:4 noitseuQ  

)a   neeb evah snoitaicossa rebmem EAA rehto morf seirautca ynam woH
?ARM eht rednu noitatpada fo doirep a ekatrednu ot deriuqer  

)b   noitatpada fo doirep a fI si   ,deriuqer evlovni siht seod  uqer a  rof tnemeri
 ?noitatpada fo doirep eht gnirud yrtnuoc tsoh eht ni ycnediser  

)c   evah snoitaicossa rebmem EAA rehto morf seirautca ynam woH nesohc   ot
?ARM eht rednu tset edutitpa na ekatrednu  

)d   ruoy fo srebmem lluf emoceb nac seirautca hcus syaw rehto ereht erA
a noitaicoss  ARM eht rednu ? 

noitseuQ  5:  

 lecnac noitaicossa lairautca lanoitan ruoy seoD  na fi pihsrebmem  yrautca  ohw
 ARM eht rednu rebmem a emaceb  ni noisseforp reh ro sih esitcarp ot sesaec ruoy  

?yrtnuoc tsoh  ]oN/seY[  
 

itseuQ 6 no : 

 ,sraey 5 tsal eht gniruD  ruoy fo srebmem lluf rof smelborp yna neeb ereht evah
 SEY fI ?yrtnuoc yrotangis rehtona ni noitingocer lautum gniniatbo ni noitaicossa

.sliated evig esaelp  

7 noitseuQ : 

 lluf a ot noitingocer gnitnarg noitaicossa ruoy ni smelborp yna neeb ereht evaH
o rebmem  evig esaelp SEY fI ?yrtnuoc yrotangis rehtona ni noitaicossa na f

.sliated  

8 noitseuQ : 

 elohw ni ,dellortnoc si yrtnuoc ruoy ni yrautca na sa noitacifilauq lanoisseforp fI
 gnitnemelpmi ni seitluciffid yna evah ,etatS eht ro seitisrevinu eht yb ,trap ni ro

t .sliated evig esaelp SEY fI ?siht fo tluser a sa nesira ARM eh  

9 noitseuQ : 

 gnidrager enilpicsid gnidrager sraey 5 tsal eht ni seussi yna neeb ereht evaH
 rehto fo srebmem ro ARM eht rednu yrtnuoc rehtona ni gnikrow srebmem ruoy

uoy ni gnitarepo  snoitacossa  eht ylfeirb ebircsed esaelP ?ARM eht rednu yrtnuoc r
.aera siht ni neira evah taht smelborp yna fo erutan  

01 noitseuQ  :  

yroslupmoc noitaicossa lairautca ruoy fo pihsrebmem lluf sI   eht fo esu gnikam(
)noitaicossa rehtona morf yrautca na rof yrassecen ARM  ni   ot lanoitan a rof redro

 ,yrautcA emehcS noisneP .ge( snoitcnuf niatrec lifluf ot ro ,yrautca na sa esitcarp
yrautcA detnioppA  a dloh ,  gnicitcarp“  ”etacifitrec  fI ]oN/seY[ ?yrtnuoc ruoy ni )

?snoitcnuf hcihw sey  

:11 noitseuQ  

oitaicossa ruoy fi etats esaelP non htiw sARM sesu n -  fi ,dna snotiacossa naeporuE
 eht no desab( ASSA htiw ARM na rof etalpmet EAA eht sesu ti ton ro rehtehw  ,os

rof )ARM EAA niam  A htuoS .stnemgnarra yrtnuoc rehto ro nacirf  

 



21 noitseuQ : 

 ro ARM eht ot dedeen era ,yna fi ,segnahc tahw ,noitaicossa ruoy fo weiv eht nI
 eht dellac osla( eton ecnadiug gniynapmocca eht “ rettel kcebueH ” ?)  

:31 noitseuQ  

 ro ekam ot stnemmoc rehto yna evah noitaicossa ruoy seoD  smelborp  troper ot
gnidrager  tnemeergA noitingoceR lautuM eht fo noitatnemelpmi  ro/dna ,

ti ot detaler stnemegnarra eht retla ot snoitseggus ? 

 


